IR=NNLIN=

Driven to improve excellence.

Radiato a VW - MK5 MK6

READ BEFORE INSTALLATION
The use of any Rennline product is the sole responsibility of the end user. Rennline Inc. accepts no responsibility for warranty voids or damage
resulting from the use of these products. Due to the varying location of wiring harnesses and other components, carefully inspect any area prior to
drilling. All Rennline products are intended for off road use only and should be installed by a qualified automotive technician.

Check to make sure you have all parts listed prior to installation.
If anything is missing contact us immediately.

(1) Radiator Guard
@ (1) Driver Side Guard bracket
@ (1) Passenger Side Guard bracket
(4) Grade 5 Cap Screw 7/16"-14 X 1 - P/N MC92865A669
(4) 7/16 ZINC WASHER - P/N MC91083A032
(4) 7/16 LOCK WASHER - P/N MC91102A765

(1) SS Button Head Socket Cap Screw M4 P/N - MC92095A194
(1) SS M4 Washer P/N - MC91116A130

Frame Rails/Bumper Mounts

'

Radiator Guard

Guard Bracket (x2)
—_

P

1. Remove the factory belly pan and bumper grills.

2. Remove the bottom 2 bumper mount bolts on each side of the car.

3. Remove both horns

4. Install the 2 radiator guard brackets as shown above using the factory bolts. The horn mount will point towards the front of the car
on the passenger side and rear of car on the drivers side. Note: Depending on the model and options your car has, the guard brackets
will either mount to the front face on the bumper mount or will be sandwiched between the bumper mount and the frame rail. If your
car will not allow the bracket to mount to the face, loosen the top bumper mount bolts prior to inserting the bracket between the
bumper mount and frame rail. Leave all hardware loose at this time.

5. Install the radiator guard to the bottom holes on the guard brackets using the supplied bolts, washers and nuts.

6. Make sure everything is properly aligned, make adjustments as needed.

7.Tighten all hardware and re-install horns to the horn mounts attached to the guard brackets.

8. Re-install belly pan and bumper grill. If you are also installing a Rennline skid pan P/N U02 to give your car the ultimate undercar-
riage protection, we have included a button head screw and washer to mount the center of the pan to the radiator guard.

P/N-U04 6/12 . . . .
Rely only on premium performance engine cooling on our virtual shelves.


https://www.carid.com/performance-engine-cooling.html
https://www.carid.com/rennline/

